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Question 1. Arrange the following words as per order in the dictionary.

feFifeReT areal hl 3l Areawhler & JITHR e HH H sqafed |

I. Property

II. Propeller

III. Propagate

IV. Propensity

Options:

a) [, II, III, IV

b) III, 11, IV, I

oIV, IIL II, I

d)III, 1V, I, 11

Correct Answer: II1, II, IV, I
Candidate Answer: III, II, IV, I

Question 2. 'Dawn' is to 'Dusk’ as 'Inauguration' is to
I "I :3hler, "TEATRTer & AT 'SeEne’ gar gl
Options:

a) Repetition

s

b) Invitation

IGEEL

c) Valediction

HAY ARG

d) Organisation

TIreT

Correct Answer: Valediction

HAT ARG

Candidate Answer: Valediction

THAYT TARE

Question 3. How many dots lie opposite to the face having Six dots, when the given figure is folded to form a cube?

T & 78 TR Y T Tt 35 T A ST Y A 5 gt 35 T ey Rig 3
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Options:
a)l
b) 2
c)4

d)5
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Correct Answer: 1
Candidate Answer: 1

Question 4. If 2819 is related to 1, then 6432 is related to:
afg 2819 1 & Fafed g, df Y 6432 weaifa &:
Options:

a)4

b) 3

c)6

d)2

Correct Answer: 3

Candidate Answer: 3

Question 5. Read the following information clearly and answer the question.

v &) 1S AT B ARTYEe IS R AT AT e i 3ee &

Micromax

——=Nokia

-)A Samsung

How many persons are using Micromax, Samsung and Spice Phone?
fordeY cafea AEPRTd, 7T 3R T B AT II9T FJ 82
Options:

a) 92

b) 42

c) 30

d) 77

Correct Answer: 77

Candidate Answer: 77

Question 6. Select the odd words/numbers/letters/pairs from the given alternatives.
R a1 frereat 3 & frvar arecl/weansit) st/ gt @ afe|

Options:

a) Inferior

&

b) Foremost

3R

c) Predominate

EER)

d) Paramount

oA

<)

Correct Answer: Inferior
&

Candidate Answer: Inferior

8t

Question 7. In the following question, a word is represented by only one set of numbers as given in any one of the alternatives. The set of numbers given in the
alternatives is represented by two classes of alphabets as in two matrices given below. The columns and rows of Matrix I and Matrix II are numbered as given. A
letter from these matrices can be represented first by its row and next by its column, example, R can be represented by 65, 76 and S can be represented by 11, 22,
etc.

TR TeeT # & T 2eg el Ueh HEAT g SaRT ST a1 & S o ot 7 & et wan 1 foam aram | farepedll o @ few oTw W wagg 318 & aF a9t ganr axfie
aTw e T3 i fow aTw 3meggh A 81 3megg 1 3R 31megg 11 & FIo87 3N dfehey o1 ST & It 81 3T 3Tyl 3 Ueh 18T 1 Ugel 3HHT Uiehl 31X I18 7 T8 @y
SRITT ST Tl €1 36TeX0T & T R &1 65, 76 31 ganT &=ITT S TohaT § 31X S 7 11, 22 3718 SaRT &I S HehelT &

Identify the set for the word RAIN.
RAIN 21sg & folu wofg Y geiet |



Matrix I Matrix II

(3G - 1) (3fog - 11)
011234 oOfj1rj213]4
SIG|VI]|E|A|C ODIR|E|OIN|G
6|R|O[N]S]S 1IN|P|V]E]S
TIM|NJE|S ]I 2IMIT|I|O|N
slo|T|I]T|A ElajI|c|oO
9IN|S|INJE|P sIN|T|A|R]S
Options:

a) 60, 84, 22, 32

b) 43, 42, 74, 82

c) 60, 42, 74, 92

d) 53, 84, 10, 24

Correct Answer: 60, 42, 74, 92
Candidate Answer: 60, 84, 22, 32

Question 8. If addition (+) is multiplication (x), subtraction (-) is addition (+), multiplication (x) is division(+) and division (+) is subtraction (-), then answer the
following question based on this information.

I 5 (+) F 0T (X), T (-) H S (+), JOT () B AT (+) 3R 1T (<) ¥ Terd (-) FeT T ar & T AR & MR N eafaf@a geat &7 e 3

1I5x5+3+1-2=?
Options:

a0

b) 1

c)-1

d)2

Correct Answer: 2
Candidate Answer: 2

Question 9. Select the odd words/numbers/letters/pairs from the given alternatives.
U 91T Taehout 7 & fawa recl/deasil/ 3eri/grat & giav|

Options:

a) FHIL

b) PRTV

c) GIKN

d) MOQS

Correct Answer: GIKN

Candidate Answer: GIKN

Question 10. Answer the following question according to the information provided below.

AT & 1S SASIRAT F 3TUR X 92T & e} oy |

A * B means A is father of B
A*BHRIITEH A, BaHOarg
A - B means A is sister of B
A-BHITEHA, BH gl &
A + B means A is mother of B
A+BFRATEHA BIEATE
A + B means A is brother of B

A-BHIIATETNABF IS E

In the expression P + Q * M = N. How is M related to P?
P+Q*M+ N THEROTHM, P& fF YR T &2

Options:
a) Granddaughter

3

b) Grandson

o

c) Daughter

>

) Son

&

Correct Answer: Grandson

o



Candidate Answer: Grandson

e

Question 11. Select the odd words/numbers/letters/pairs from the given alternatives.
few a7 fehedt 3 & fawa ereel/ a3/ 3R/ g7 #r giav|
Options:

a) Tiger

El1)

b) Bear

el

c) Leopard

R

Correct Answer: Bear

ATel

Candidate Answer: Bear
B

[N

Question 12. A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.

TS & Uh Ths &1 HIShT T ST &, ST o TeaT JTepfcrall # ferama o & |s& @her STt oX I fanr 3cat 3mapfer Sk feans e

! —
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Candidate Answer:
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Question 13. Which one set of letters/numbers when sequentially placed at the gaps in the given letters/numbers series shall complete it?
& S HER/TEAT ST H T TAT T FHHTER TG T IR/ HEIT3HT T il 7 HHg 37 I Ham?

m_nnm_nnm_nn
Options:

a) mmn

b) mnn

c) nnn

d) nnm

Correct Answer: mnn
Candidate Answer: nnn

Question 14. In the following question, a word is represented by only one set of humbers as given in any one of the alternatives. The set of numbers given in the
alternatives is represented by two classes of alphabets as in two matrices given below. The columns and rows of Matrix I and Matrix II are numbered as given. A
letter from these matrices can be represented first by its row and next by its column, example, R can be represented by 65, 76 and S can be represented by 11, 22,
etc.

TR TeeT 1 W U e dhael Ueh HEAT g AT SR a1 § S o et 31 & et wan o aram | Farepedll 31 @ fow aTw W wagp 318 & & a9t ganr ariie
aTq g, St ok P Rw 1w el & §1 3iregg 1 3R 3iregg 11 & Foeet 3R dfer oy dear & arfi §1 57 31Tyl # Uoh 3R 1 Ugel 38hT Ui 3R a1e & &eey gany
SRITT ST Tl €1 36TeX0T & folw R &1 65, 76 3711 aaRT &=ITAT o1 Tl § 31X S T 11, 22 377TE aRT IR S el &1

Identity the set for the word DEAR.

DEAR 2152 & folT @ogg & qginet |

Matrix I Matrix II
(3 - 1) (e - II)
011121314 516]7]819
O|S|R|OJA|D SIE|T]JOJUIR
1IDISIRIOLA GIRIEITIONU
2|A|DIS|R|O JIUIRIE]JT]O
3|OJA|D|S|R S8|O|JU|RJE|T
4|R|O|A|D|S 9| TI|O|JU|RI|E
Options:

a) 21,32,20,31

b) 55,21,03,14

c) 32,88,31,42

d) 10,66,14,65

Correct Answer: 10,66,14,65
Candidate Answer: 10,66,14,65

Question 15. From the given alternative words, select the word which cannot be formed using the letters of the given word.

R 317 fasredt 7 A 39 Uec; 1 TIA PTG S feT 1T 2reg & 38R A 18T TATIT ST FhlT B

PENULTIMATE

Options:

a) PUIT

b) MEAR

c) PULT

d) TIMA

Correct Answer: MEAR

Candidate Answer: MEAR

Question 16. Read the following information clearly and answer the question.

e & 978 e T LAES TG R T a0 9o # Sea? &

——Nokia




How many persons are using Samsung, Spice and Micromax but not Nokia phone?

TordeY cafFd JFT, TISH 3R ARSHIAFT FT TIT Fc & AT ANHAT PBleT T TATT 7T I &7
Options:

a) 42

b) 35

c) 77

d) 60

Correct Answer: 35

Candidate Answer: 35

Question 17. Identify the figure that completes the pattern in the question figure.
39 A Y TgareT A T IS F et U A

|
Options:
a)
)
d)
Correct Answer:

Answer:
X

Question 18. Identify the symbols to be inserted to make the expression correct.

37 gl o ugatet Y S & =T AfFeafaFa &t Ter FoT & fow st S

34 * 4 *8 *2
Options:
a)x, +,x
b) =, x, +
c) XI +l =
d) + = x



Correct Answer: =, X, +
Candidate Answer: =, x, +

Question 19. Which one set of letters/numbers when sequentially placed at the gaps in the given letters/numbers series shall complete it?
& TS 37T/ TET el H W TATAT I FATER TG T IR/ TEATHT T it T Fofg 3 QR HMM?

OI 1l Zl 1l Xl 2! UI R 3l QI p— p———
Options:

a)y, Q4L

b) Ul QI Ql 5

au,Q40

d) U, Q0 4

Correct Answer: U, Q, Q, 5
Candidate Answer: U, Q, 4, L

LLLLL

—

Question 20. If 'L' denotes 'x', 'M' denotes '+', 'N' denotes '-', and 'O’ denotes '+', then what will be the value of 50 M 10 0 14 N 4 L 3?
Tl L i 'x, 'M' eRffiar & '+, 'N' g=fiar & -, 3R 'O' g=fiar & '+, A 50 M 10 O 14 N 4 L 3 7 H1eT FIT §19?

Options:

a7

b) 6

c)9

d)8

Correct Answer: 7

Candidate Answer: 7

Question 21. Select the missing number from the given responses.
few 91T faehedt 7 & ofcd TET A HfS|

3 2638

8 456

1111

25 9 ? 49

Options:

a) 30

b) 31

c) 12

d)0

Correct Answer: 31
Candidate Answer: 31

Question 22. Roshni goes 15 metres north, then turns right and walks 20 metres, then again turns right and walks 10 metres then again turns right and walks 20
metres. How many metres is she away from the original point?

AT e 1 3R 15 Fiex Forelt & 3 T it 3R {3 20 Fiex Forch &, T SRy it 3R {3 10 FieX Fofclt & 3R T SeRT 2/t 3R g 20 #iel =orch 8
R 319+ GRIPF g & ey dlex T 82

Options:

a) 5m

b) 10m

c) 15m

d) 30m

Correct Answer: 5m
Candidate Answer: 5m

Question 23. Two friends Ram and Shyam are standing at a point facing north. Shyam walks 5km to his left then again turns left and walks 10km. Whereas, Ram
walks 2km towards north, then takes right turn and walks 5km. What is the shortest distance between Ram and Shyam?

2 T8 1 3R 29I SeeR &1 31X J@ Feeh Teh fiig ) @S 8| QAT 3791 o121 3 5 Thelieliey wrefell § 3R T iaRT 31ei aRit 3R Fgent 10 fhalieiet wrofielr §1 starfer e
3eak &1 3R 2 Fhelleie =rerd & 3R T it 3R #ghT 5 oheleliey Trefall &1 I 3 17m & o & et & ol g F4T 87

Options:

a) V244

b) V122

) V212
d) V144

Correct Answer: V244
Candidate Answer: V144

Question 24. Which one set of letters/numbers when sequentially placed at the gaps in the given letters/numbers series shall complete it?

&Y TS 37T/ TEAT ATl 7 WA VAT T FATAR TWet T IR/ FCATIHT T Hlet T Ffg 38 T FIM?

5,25,6,37,7,51,8,___
Options:



a) 64

b) 65

c) 66

d) 67

Correct Answer: 67
Candidate Answer: 67

Question 25. Find the number of squares and triangles in the given figure.

Y 8 3l ey 2 it 3R Faagot & war e BT

Options:

a) 38 Triangles, 7 Squares
38 feger, 7 a9t

b) 44 Triangles, 7 Squares
44 f39gt, 7 @t

c) 40 Triangles, 8 Squares
40 97T, 8 T

d) 36 Triangles, 8 Squares
36 ﬁ'égtvr, 8 et

Correct Answer: 44 Triangles, 7 Squares

44 f39gt, 7 @t

Candidate Answer: 44 Triangles, 7 Squares
44 T3, 7 9

Question 26. A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.

FTNS & U Ths 1 AISTHT 1T ST &, SHAT o seeT Jmapforait 3 ferama amam (3@ @ier STt o) I8 forer 3ot Jmafay St s 2|

Options:
a)

3]

]

<)

d)-

Correct Answer:



(o]

Candidate Answer:

(o)

Question 27. If ANCIENT is coded as 2516859 and TRAINS is coded as 942653, then NATURE will be coded as:

IfE ANCIENT &1 2516859 & & & Td TRAINS T 942653 & &9 # feag fam ST, af NATURE 1 fheag fovar sieam:
Options:

a) 539048

b) 539098

c) 529408

d) 529048

Correct Answer: 529048

Candidate Answer: 529048

Question 28. If FIRE is coded as HKTG, the code for WATER is:
If& FIRE &1 HKTG & &9 # e fohar ST of WATER &1 IS g
Options:

a) XBTFS

b) VZUFT

c) ZDWHU

d) YCVGT

Correct Answer: YCVGT

Candidate Answer: YCVGT

Question 29. Select the odd words/numbers/letters/pairs from the given alternatives.
U 91T Taerout 7 & fawa ereci/deasil/ 3eri/gaat & giav|

Options:

a)5:18

b) 6:23

c) 7:27

d)3:11

Correct Answer: 5:18

Candidate Answer: 5:18

Question 30. Select the odd words/numbers/letters/pairs from the given alternatives.
U 10 fenedl 7 & fawer ereel/aEam3i/ 3R/ g7 1 gfav|

Options:

a) BFSW

b) UIAO

c) PNXY

d) VTNK

Correct Answer: UIAO

Candidate Answer: PNXY

Question 31. In a row of girls, Preeti is thirteenth from left. Molly who is twenty third from right is third to the right of Preeti. How many girls are there in the row?
TSRt Y U gied F, WM 910 ¥ OEd T W | A ST gt ¥ 9599 T W g, a8 N & grit 31 & I T W) 1 ufea & forde Jsfwar §?

Options:

a) 32

b) 31

c) 34

d) 38

Correct Answer: 38

Candidate Answer: 38

Question 32. Rajendra starts from point L and walks 3m towards the north, then turns to his left and walks 4m. Again, he turns to his left and walks 6m up to point M.
In which direction is he from his starting point L?

Toic; g L & <ol & T & 3 3 Hied 3ol 1 3R <rofell 8, R 310ey STt 3R {3 4 Ailed TeidT § 3R O QIR 3191 art 3R 59 6 #ieY Toia foig M ds
IEET §1 I 31 3 IR g L & e e A4 &2

Options:
a) North-East



s
b) South-West
gieyor-afRas
c) West
qfeas

d) South
gfaror

Correct Answer: South-West
afeor-uftas

Candidate Answer: South-West
G R IEEE)

Question 33. Below some statements are given, followed by some conclusions. You have to consider the statements to be true even if they seem to be at variance
from commonly known facts. You have to decide which of the given conclusions, if any, follow from the given statements.

A F& Y o v §,fow a1e o vy e a1e §|3mden o v syt w1 H@é A § O e 9 wafafea avg @ e w3t 7 8| s oty o § o few oo
forseheit 71 I ieT-aT forseh eyt a7 IHTEROT el B

Statements:

YT :

All mangoes are bananas.
[T 37T el B

All bananas are grapes.
T el I B

Some grapes are apples.
¥ 3R 4 €|

Conclusions:

oSy

I: Some apples are mangoes.

TS 89 A E

II. Some grapes are mangoes.
TS I A&

III. Some bananas are apples.
T &t 89 B

Options:

a) Only I follows

I 1 JFTEOT HAT &

b) Only II follows

el 11 3801 I §

c) Only III follows

aharef I11 378X Tl &

d) All L,II and III follow

T forsand 1,11 3R 111 37e7@RoT & &
Correct Answer: Only II follows
aarel 11 3T 80T Tl
Candidate Answer: Only II follows
el 11 31T 80T Tl &

Question 34. Select the related letters/words/numbers from the given alternatives.

feu a1V faehedl 7 & Toaieticd R/ el/TEansit # giv|
MANTELPIECE: ETNAMLECEIP:: OBLITERATES : ?

Options:

a) TILBOESETAR
b) TLBOIESETAR
c) ATILBOESETR
d) SBTILOEETAR

Correct Answer: TILBOESETAR
Candidate Answer: TILBOESETAR

Question 35. From the given alternative words, select the word which cannot be formed using the letters of the given word.

R 317 Aot 7 A 39 Uec; T TIA PG St feT 1T 2reg & 38R A 18T TAIT ST FehlT B

SEARCHLIGHTE
Options:
a) CHU



b) LECH

c) HCHL

d) SRER

Correct Answer: SRER
Candidate Answer: SRER

Question 36. Select the odd words/numbers/letters/pairs from the given alternatives.
Ru a1v frenedl 7 & fawe ereel/aeam3i/ 3R/ g7t w1 9fav|

Options:

a) 43:3

b) 71:5

c) 126:9

d) 155:11

Correct Answer: 126:9

Candidate Answer: 126:9

Question 37. Which one set of letters/numbers when sequentially placed at the gaps in the given letters/numbers series shall complete it?
& TS 31T/ HEAT AWl 7 W TATGAT I FHAGTAR Tl T IR/ ECATIHT T Hlet 6 Fg 38 G HFM?

GIFIHIDIIIAI—I—I—
Options:

a)ly,L

b)J Vv, L

c)J X, L

d)J, W, K

Correct Answer: J, W, K
Candidate Answer: J, W, K

Question 38. If addition (+) is multiplication (x), subtraction (-) is addition (+), multiplication (x)is division (+) and division (<) is subtraction (-), then answer the
following questions based on this information.

ITE 5 (+) F IO (x), T (-) FI G (+), JOT (X) FT AW (+) 3 HET (<) FT G (-) FgT A A & TR FATHIRAT & IMUR N =A@ g2t &7 3o &

9-4+2+16x2="7
Options:

a)5

b) 6

c)7

d)9

Correct Answer: 9
Candidate Answer: 9

Question 39. In the following question, if a mirror is placed at the line XY, then which of the answer figures is the right mirror image for the given figure?

foratifeher geat #, Ffe; Teh adoT &1 XY U% T@M ST oY & 31§ Seaik 3Mpicial 7 & Hlet-8r HTehfcr T ITepict 1 T qdor gfafes g

*O’ E

Options:
a)

*




NE

+O7

C) \
*
o
d
o*
¥ ,
Correct Answer:

:
). ¢

4O
Y

4O

Question 40. Select the related letters/words/numbers from the given alternatives.

QU 10 fehedl 7 & Traietied 3R/ el/FEamsit # 9w

11:120::13:7?
Options:

a) 148

b) 156

c) 220

d) 168

Correct Answer: 168
Candidate Answer: 168

Question 41. Which one set of letters/numbers when sequentially placed at the gaps in the given letters/numbers series shall complete it?

& TS 37T/ TEAT AW 7 WA VAT I FAGTAR T T 3T/ TEATHT T HieT T Ffg 38 T Hm?

6,36,5,25,4,16,3,9,2
Options:

a)4,2,1

b)4,0,1

41,1

d)4,1,0

Correct Answer: 4,1, 1
Candidate Answer: 4,1, 1

Ty —

Question 42. Select the related letters/words/numbers from the given alternatives.

Teu 91T faehoul 7 & geafeticd 37eR/Usel/aEam3il I g
GDM : ROX : : AOP: ?

Options:

a) MZA

b) LAB

c) LZA

d) MBA

Correct Answer: LZA
Candidate Answer: LZA



Question 43. Read the following information clearly and answer the question.

rer & 978 T T LAEF IS 3R U 10 997 1 3T &)

—sMNokia

-,A Samsung

How many persons are using Nokia, Samsung and Spice but not Micromax phone?

Tohdel saferd AfeRaT, VAT 3R TISH ST T I & AheT FASHIHFT WIeT T TAIT T8l I 87
Options:

a) 42

b) 55

c) 60

d) 102

Correct Answer: 60

Candidate Answer: 60

Question 44. In the following question, if a mirror is placed at the line XY, then which of the answer figures is the right mirror image for the given figure?

foaTifener geaT #, Ffe Teh adoT &1 XY UR TGN ST Y &Y 31§ Seaik Tl 37 & Hied- ITehfct Tt ITepicl 1 TEY 90T yfdfer grom?

X
+ L~
|~
|~
"
e
? [
"
|~
|~
¥
Options:
a)

b)

c)

NG JI 21K sfs it

d)

+
4O

Correct Answer:



+
9

Candidate Answer:

+
ﬂ

Question 45. Below some statements are given, followed by some conclusions. You have to consider the statements to be true even if they seem to be at variance
from commonly known facts. You have to decide which of the given conclusions, if any, follow from the given statements.

;hﬁgmraﬁu?r%\'tr?rtr%,ma;aﬁgmﬁrwérﬁtrm%uﬂwﬁrﬁvw:rwﬁaﬁa@rm%ﬁﬂaﬁu‘gaﬂﬁﬁaaw#mﬁrmﬁaﬁmwm%%ﬁvm
TSRt 7 & ler-ar fersehy HU=AT T HTEROT LT ] |

Statements:

e :

Some wallets are purses.
T a¢T TH g

All purses are boxes.
Tl 7w Bed €

All boxes are bottles.
Tl B AT £

Some bottles are glasses.

T dicrel e &

Conclusions:

sy

I. Some wallets are bottles.

Fo a5 et

II. Some bottles are purses.

Fo dido T8 ¢

III. No purse is a glass.

S o 9 el 187 &1

IV. Some glasses are purses.

Fo forema o ¢

Options:

a) Only I and III follow

&aer I and 11 HeER0T &L &

b) I, II and Either III or IV follows
s 1, 11 U 111 37 IV 377807 Xl §
c) Only II follows

el 11 3TeTERT AT &

d) None follow

SoTH U IS A ITEROT 6T AT &
Correct Answer: I, II and Either III or IV follows
forsad 1, 11 U 111 AT IV 3807 e §

Candidate Answer: Only I and III follow
Faer I and I 31e]6R0T 3T §

Question 46. Select the related letters/words/numbers from the given alternatives.

Rw a1e fasred! # & wrafeeea arl/ewsel/deansit # gfv

Sparrow: Chirp:: ? : Hiss
RS wgeugET:: ? : G
Options:

a) Horse

EIE)
b) Snake



Correct Answer: Snake
aa

Candidate Answer: Snake
aq

Question 47. Which among the following is the season of Zaid Crops in India?
AR F SIS, HEe T HlT-TT AT g1 8?2
Options:

a) February and April

a3 3

b) May and July

A 3R So$

c) April and June

38T 3 ST

d) October and November

Jce 3R aFR

Correct Answer: April and June

31t AR ST

Candidate Answer: April and June

38T 3R ST

Question 48. Which among the following states produces Uranium?

et 3 & i 1 U AT F e AT 82
Options:

a) Kerala

Execy

b) Rajasthan

JSTEATT

¢) Karnataka

Felleh

d) Andhra Pradesh

3T TR

Correct Answer: Andhra Pradesh
3T geRm

Candidate Answer: Karnataka
Felleh

Question 49. Who among the following was the designer of National flag of India?
7T H T Sl HRT & TS &aqoT I 3SR (3THeheash) aT?
Options:

a) Kondapalli seetharamaiah

FisTeel TrIRATAT

b) Pingali Venkayya

Tarelr gohar

c) Pingali Parasu ramaiah

TaTell oxg T

d) Chalapathi Rao

Tema T T

Correct Answer: Pingali Venkayya

TaTelr gohar

Candidate Answer: Pingali Parasu ramaiah

Tl o T

Question 50. Which energy of an object is directly proportional to the square of its speed and is a scalar quantity?

T I T FleT F Foft SHR AT & 97 & FATIS Qe & AT v rfRr A @ 2

Options:

a) Potential Energy

ufas =

b) Kinetic Energy

aifast et

c) Mechanical Energy

it Felr

d) None of these

T 1T fasreat 7 & IS LT



Correct Answer: Kinetic Energy

aTferet Fralt

Candidate Answer: Mechanical Energy

RUEEZE]

Question 51. Inflation is result of

ETERY aRome §:

Options:

a) Increase in supply of goods

eI 1 Mgt A R

b) Increase in cash with the Government
TWHR F T AHh 7 g

c) Decrease in money supply

el e A el

d) Increase in money supply

7T 3mfet A gfe

Correct Answer: Increase in supply of goods
eI Y 3Mgfd A R

Candidate Answer: Increase in money supply

#r smefet A fe

Question 52. In human blood, what percentage of fragment does the Plasma constitute?
HIAT YT H, BB 30 7 el G Tl gl 87

Options:

a) 63%

b) 54%

c) 45%

d) 83%

Correct Answer: 54%

Candidate Answer: 83%

Question 53. Who presides over the joint session of the parliament?
T, hY HGFT A T HEGETAT e el 87
Options:

a) President of India

AR T TSgafar

b) Speaker of Lok Sabha

dlieh THT T 3TET6T

c) Vice-president of India

AR T 39-Isgafa

d) Prime Minister of India

AR T TTAFHAT

Correct Answer: Speaker of Lok Sabha
dlieh FHT T 3TEAET

Candidate Answer: President of India

AR T ISgufa

Question 54. Which of the following is NOT a greenhouse gas?
et 7 & i1 W Mere3w a6 57
Options:

a) Water Vapor

STel arsq

b) Methane

AT

c) Nitrous Oxide

ASTH Jierarss

d) Argon

Koo

Correct Answer: Argon
Koo
Candidate Answer: Argon

Eircic

Question 55. 'Otorhinolaryngology' deals with which of the following parts of the Human Body?



"JHeRBATAR AN AT RR F o7 F ¥ e 991 & T cagR T &2
Options:

a) Ear, Neck, Throat

e, I, I

b) Ear, Nose, Throat

e, 31Teh, Il

c) Eyes, Ear, Nose

3G, Fle, AR

d) Eyes, Tongue, Nose

3@, e, AR

Correct Answer: Ear, Nose, Throat
e, 31T, eIl

Candidate Answer: Ear, Nose, Throat
I, AR, T

Question 56. Dr. A P J Abdul Kalam was the President of India for the tenure:
31 ST 3feqet Folle T Rl 3 TSEUTcT & T H HRIHIT AT:

Options:

a) 2007 - 2012

b) 2002 - 2007

c) 1997 - 2002

d) None of these

U 1T fahedl & A IS LT
Correct Answer: 2002 - 2007
Candidate Answer: 2002 - 2007

Question 57. Which of the following is a unit of measuring thickness of ozone?
o1 7 I it A 3NN T R AT Y Th SIS 87
Options:

a) Dobson unit

SleaeT oS

b) Gordon unit

et Shrs

c) Warhol unit

AREI TS

d) Tatum unit

EeH 5

Correct Answer: Dobson unit

ST ShIS

Candidate Answer: Dobson unit

e SHhS

Question 58. Which of the following does absorption of ink by blotting paper involve?
BT Y9 GaRT TATET 3 HTMOT 3 7 et g2
Options:

a) Siphon action

Ao RATS

b) Capillary action phenomenon

Fuoly FRIATE T

c) Diffusion of ink through blotting

HIEdT SaRT T T TR

d) Viscosity of ink

PR CEIDE O

Correct Answer: Capillary action phenomenon
Fuoky FRITE TeaT
Candidate Answer: Capillary action phenomenon

IR FRIATS TTAT

Question 59. Which among the following is the first electric train in India?
ot 31 2 et 1 ST S T T e §2

Options:

a) Deccan Queen

g I AT

b) Rajdhani Express

TAYTA T



c) Shatabdi Express
ATSET TS

d) Kalka Mail
IRt Hel

Correct Answer: Deccan Queen
SEFEST &Y T

Candidate Answer: Deccan Queen
g &I edT

Question 60. What will be the effect on total deposit if banks operating in an economy are converted into monopoly bank?
T el rfeaaer & del & Furele T Alshd ThTEhR Sl F TRafdd # AT ST § & ool STAT IR FAT T3 T2
Options:

a) Deposit will increase

5 # g grtr

b) Deposit will neither increase nor decrease

ST A Y Fear 3R o & 'ea

c) Deposit will initially increase but then decrease

ST & gReT A gig g1l IR oe # gl

d) Deposit will decrease

STHT H AT gty

Correct Answer: Deposit will neither increase nor decrease
ST o ot S¢aT 31K o &Y 'eam

Candidate Answer: Deposit will decrease

STAT F Y gl

Question 61. Which among the following diseases is caused by Protozoa?
et 7 8 &t T NART TSN & FHROT gIeir 67
Options:

a) Filariasis

g

b) Mumps

ISA-3TU/ TG

c) Amoebic dysentery

3T afer

d) Anthrax

e et

Correct Answer: Amoebic dysentery

3l Ofarer

Candidate Answer: Filariasis

g

Question 62. Who identifies the money bill in India?
AR & o= FOTF 1 it FefiRT aar &2
Options:

a) Speaker of Lok Sabha

ol |T JTETaT

b) Finance Minister

ErGKGED

c) President of India

R T TSl

d) Chairman of Finance Commission

Tqed 3TAT 1 3reTeT

Correct Answer: Speaker of Lok Sabha
dlieh |HT 3eTeT
Candidate Answer: President of India

AR T Tsgufar

Question 63. Data that is copied from an application is stored in the ...........
3eT Y 3 T ool A Y T I § FafRd BTy .

Options:
a) driver

A

b) terminal



effeTer

c) prompt
e

d) clipboard
Fegels

Correct Answer: clipboard

Fergels

Candidate Answer: driver

LT

Question 64. Who is responsible for the discovery of Hydrogen?
FTSEIoTel T EieT & o7 SieT Scaierit &2
Options:

a) David Bushwell

HEEEREES

b) James Chadwick

Sy dzfas

c) Ernest Rutherford

3HeTEE TEIHS

d) Henry Cavendish

[GRETIE

Correct Answer: Henry Cavendish
GRETIE

Candidate Answer: Henry Cavendish

ORI CIEN

Question 65. Which one of the following is Europe's second longest river flowing through ten different countries and travels all the way from the Black forest to the
Black sea?

Y T Y T G hleT AN § S S IelT-376T Tl & a5l & 3 Hiel T F FHiell TER Teh I Bl 62
Options:

a) Volga

gieem

b) Elbe

Tes

c) Rhine

RED

d) Danube

DG

Correct Answer: Danube

3gq

LN

Candidate Answer: Rhine
et

Question 66. What is the correct composition of Marsh gas?
ARY 3 T TET TSI FAT §?

Options:

a) CO2, CO and N2

€02, COwg N2

b) CH4 and H2

CH4 Tg H2

c) CH4

d) CO

Correct Answer: CH4
Candidate Answer: CH4

Question 67. When we pay an extra amount of price for the goods and services we consume or buy, what is that extra amount of money called?
SIS §H aEg3NT vd {3t & 3usier 7 @ler & faw sfafera Ry &1 sgaramer swar € a, 30 sfaRea TRy o aer ST 82

Options:

a) Service Tax

Fqara

b) VAT

T

c) Custom Duty

T Yok



d) Goods and Service Tax (GST)
T U T Y (SNUEd)
Correct Answer: VAT

e

Candidate Answer: VAT
e

Question 68. Which type of tax does not come under Indirect Tax?
TFE TR T Y AHTCTAT Y & 3cTaTd oAar 37T 87
Options:

a) Sales Tax

[CERECY

b) Excise Duty

TFHSST &

c) Octroi

¥

d) House Tax

IE W

Correct Answer: House Tax

IE W

Candidate Answer: Excise Duty

TS 55

Question 69. The headquarter of UNESCO is at:
TR ] HEATE B
Options:

a) Jakarta

STRIAT

b) Melbourne

HelaeT

c) Paris

e

d) New York

oIy

N
Correct Answer: Paris

e

Candidate Answer: Paris

9w

Question 70. The most part of Ganga River flows through which states of India?
AT FAET T TR HIFT HRA o fohdl ToT H G T8l 67
Options:

a) Bihar

IS

b) West Bengal

gfgs S9mer

c) Uttarakhand and UP

Sea@s 3T U (3ear yew)

d) Punjab

Lroic)

Correct Answer: Uttarakhand and UP

Sedur@s 3T U (3ear yaw)

Candidate Answer: Uttarakhand and UP
Seaur@s 3T T (3ear w8

Question 71. Which among the following options best describes the Metamorphic Rocks?

T # O i TO1 [Ahed TR T H aredr FaH 3T aRE & AT 87

Options:
a) Metamorphic rocks solidify from a liquid Magma
TATART TETT Ueh el HIAT SFTAT H §oicT & |

b) Metamorphic rocks solidify from Molten Material that flows over the earth's surface (Lava)

mﬁﬁaa@ﬁﬁaﬁg@mﬁ?ﬂ:mﬁaﬂ?ﬁ%sﬁt{zﬁ@rwwm%‘(w) I

¢) Metamorphic Rocks are formed by direct alteration of existing rocks



FART Tt Hioer Tt & JegsT aRads Faa € |

d) Metamorphic Rocks are created from deposition of layers

FIART TERT IRl & THAT 8ol A T & |

Correct Answer: Metamorphic Rocks are formed by direct alteration of existing rocks

AR TgeT Hiser gl & JeaaT aRads A aac ¢ |

Candidate Answer: Metamorphic rocks solidify from Molten Material that flows over the earth's surface (Lava)

TR TETet e §T ver & e & Fech § St gt 7 FefE o} aga ¢ () |

Question 72. "The rate of change of momentum of a body is directly proportional to the force applied". Which among Newton's laws of motion is this?
Ty &g o 3T AREcTT T ST 36 WX ST AT Fef & FARIS Bl B, A =gt & forer fgiar 7 82
Options:

a) Newton's First Law of Motion

et ATt T Igell I

b) Newton's Third Law of Motion

=& Mt T T ge

c) Newton's Second Law of Motion

e aTfel T gt e

d) None of these

T a7 Aeveut 7 O FIS LT

Correct Answer: Newton's Second Law of Motion

et a1l o g s

Candidate Answer: Newton's First Law of Motion

et AT T Igell I

Question 73. Inulin is a polymer of:
ool T Teh g o

Options:

a) Glucose

TR

b) Galactose
e

c) Fructose
T

d) Arabinose

3RATSATST

Correct Answer: Fructose

el

Candidate Answer: Glucose

TR

LN

Question 74. Who among the following cannot participate in the election of president of India?
AR o Iogufr & it 7 et & & ler enffier 78T g geharr 872
Options:

a) Nominated members of Lok Sabha and Rajya Sabha

e T R T T & FART T |

b) Members of State Legislative Council

T faemt aftve & wee |

c) Members of Union Territory Legislatures

&g, AT =T F AUTHse & ey |

d) None of these

T 1T faereat 7 ¥ IS LT

Correct Answer: None of these

T T fashedt 3 8 FIs 61|

Candidate Answer: Nominated members of Lok Sabha and Rajya Sabha

e 8T 3R T |IN & AAAT TS |

Question 75. What do you understand from Monopoly Market?
THIHR TR T 3T FIT THSTS 87

Options:

a) Market situation in which there are a large number of buyers and sellers

IR &7 a8 Y Sad s A F wler g {sharaa & |

b) Market situation in which there are many firms that sell closely related products
SIS &1 o ReTeT STgT 9) Sigel AR Hufeiai Teh @l 3cure ol farshe el € |



c) Market situation dominated by a single seller

IR Y g FeAfa s1gf W e & fashar 7 adeg @ § |

d) Market structure in which there are some large sellers of a product and large number of buyers
TSR T a6 FAAT 61 TN Teh 3c91G & o I3 fashall 81d & AR @Rt 1 93 dear safegd gt ¢ |
Correct Answer: Market situation dominated by a single seller

ISR 1 I8 Feufa 76T R e & fashar T aea g1 & |

Candidate Answer: Market situation dominated by a single seller

ISR I8 Feufa ST8T 9 veh & fashar s aaea @l & |

Question 76. Who appoints the Comptroller and Auditor General (CAG)?
T vd HgToT ST et fAgerd i 82
Options:

a) Prime Minister

JYTAFHAT

b) Governor

JTguTeT

c) Chief Justice

49w Ffeea

d) President

Tsgafa

Correct Answer: President

Tsegfar

Candidate Answer: President

egafa

Question 77. The Contingency Fund of the State is functioned by:
TSI & IThHS IV T FATelT FXAT 8

Options:

a) The Governor of the State

IS T ISTTel

b) The Chief Minister of the State

T T HEGHA

¢) The State Finance Minister

T 1 fadHSr

d) Finance Minister of India

R T faae=r

Correct Answer: Finance Minister of India

AR T faaa=r

Candidate Answer: The Chief Minister of the State
T T HETHA

Question 78. A triangle with sides 3 cm, 4 cm and 5 cm is rotated with 3 cm and 4 cm sides as the heights one by one to form 2 different cones. The volumes of the
cones so formed will be in the ratio of:

T Pt Forehr ofsd 3 @, 4 Qo 3R 5 Al €, 7 5 X GRS & o 3 A 3R 4 Falh arelr ofed g & 9 H U U e & et 2 STl §1 56 TR
SeToY aTel QAH3HT & HIAcTT T eI fohctalT G112

Options:

a)4:3

b) 3:4

) 27:64

d) 64:27

Correct Answer: 4:3

Candidate Answer: 64:27

Question 79. An earthing wire connected to the top of an electricity pole has its other end inside the ground. The foot of the wire is 1.5 m away from the pole and the
wire is making an angle of 60° with the level of the ground. Determine the length of wire.

T FrsTelr & @o st & oY & 73 STHIS AN T GERT R, S7fH o 3ieX &1 AR T forere Ry, @t & 1.5 A gy & 3R AR ST & 60° T 0T T &1 AR Y 1S At
FI

Options:
a)2m
2A
b)3m
34
c)V3m
V3

d) V3/2m



V3/2 Fr
Correct Answer: 3 m
34

Candidate Answer: 3 m
3

Question 80.
[fa=(04 Jz,h =0.04 and ¢ =
the three is:

2 B i §i . 5
G a =(0.47,b=0.04 uu(f(‘:-;, at dFf & de ad d@dy B9 m g

. then the cor

t relationship among

wal ks

Options:

a)b>a>c

b)a>b>c

c)a>c>b

d)c>a>b

Correct Answer: c>a>b
Candidate Answer: c>a >b

Question 81. If the distance between two points (0, -5) and (x, 0) is 13 unit, then the value of x is:
Ifg &Y g3t (0, -5) 3 (x, 0) % ofrer 1 g 13 3S &, A x &7 AT fobcterr 22
Options:

a) 10 unit

10 515

b) 12 unit

12 318

€) 9 unit

9 51

d) 6 unit

6 SIS

Correct Answer: 12 unit

12 515

Candidate Answer: 12 unit

12 S

Question 82. In A ABC, «B = 70° and «C = 30°, AD and AE are respectively the perpendicular on side BC and bisector of zA. The measure of 2DAE is:
AABC #, £B = 70° 3iR £C = 30°, AD 3R AE S#RI: 3o BC TR o 31X £A &1 HHe[astorh 8 | 2DAE 1 AT fehciair 82

Options:

a) 24°

b) 10°

c) 15°

d) 20°

Correct Answer: 20°

Candidate Answer: 20°

Question 83. A saves 20% of his income. His income is increased by 25%, so he increased his expenditure by 25%. What is the percentage change in his savings?
A 3T 3T FT 20% ST &1 SHRT T 7 25% g 81 St 9T 38 30e) &332t 7 25% e Y| 381 swret F yfarerd gRacter e 82

Options:

a) 20%

b) 25%

c) 33%

d) 16%

Correct Answer: 25%

Candidate Answer: 25%

Question 84. 12500 students appeared in an exam. 50% of the boys and 70% of the girls cleared the examination. If the total percent of students qualifying is 60%,
how many girls appeared in the exam?

12500 faremff veh o & AfFAfT g1 50% w5eht AR 70% sferat 3 et Sechior il afe 3echiot gy arel et frenfat hr afaid 60% &, dY qeT & fhaeh agfear
Options:

a) 6500

b) 6200

¢) 5500
d) 6250

Correct Answer: 6250
Candidate Answer: 6250



Question 85. The pie chart represent the distribution of cost of production of a firm in different purpose. Total cost of production of firm is Rs.720 lakh.

T Gl &Y SIS oAITel T Fafdeet el # faeRor a1 3  22fiar aram |t Y el 3cuTest SeTd Rs.720 &G g

A = Cost of raw materials
FTd HIeT T AT

B = Cost of packing materials
FFaT T A AT

C = Cost of labour

HH HT AETT

D = Maintenance cost
&G T AT

D

120" ao*

B
100"

50"

Cost of packing materials and labour together amount to:
YfFeT TARIET 3R A9 A1 afFEAfad et fhde &
Options:

a) Rs.250 lakh

Rs.250 o@

b) Rs.430 lakh

Rs.430 &@

c) Rs.300 lakh

Rs.300 o@

d) Rs.220 lakh

Rs.220 or@

Correct Answer: Rs.300 lakh
Rs.300 o@

Candidate Answer: Rs.300 lakh
Rs.300 o™

Question 86. Pipe A can fill the tank in 12 hours and pipe B can fill the tank in 8 hours. A third pipe C empties the tank in 15 hours. If all pipes are opened together
then after 5 hours what portion of the tank will be filled.

qsq A &F HY 12 6 H 3R U159 B EF FY 8 € F R ThdT & | Teh dRRT U159 C ¢ Y 15 gel 7 @rell IR ThdT ¢ | Ife; TR U159 Teh A1Y @iel feU S0 ar 5 9 7 & a1
ToReTeAT 79T 3R STTTaT:

Options:

a) 17/24

b) 24/17

) 17/120

d) 1/3

Correct Answer: 17/24

Candidate Answer: 17/24

Question 87. A discount of 10 % is given by a salesman for cash payment. What should be the marked price if he wants to earn a profit of 5%?
Teh AeH=l GaRT afehe; 3Tl IR 10% 1 Te & ST & |ITE T8 5% 1 ST HHleAT =gl & ol JHfehel Hor =T g1 |

Options:

a) 11.66%

b) 15%

c) 22%

d) 10%

Correct Answer: 11.66%

Candidate Answer: 11.66%

Question 88. The following column represents the marks obtained by five students in three different subjects out of 50 marks in each subjects. Study the column
carefully and answer the question given below.

et TIH H 97T BHF eaRT it [Affeat [awal 7 & gedes 7 50 3 I 9Ted 37 a=fiv a0 §| T8 (G3RT) I AU & 7eaTeT Y AR 7 U w2 &1 3caik &:
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Find the approximate difference between aggregate percentages of marks obtained by Charu and Punit in all three subjects.
A& 3R oA SR FHE oAt fqt 3 UTeet 3ieht o oot T o drel STSTT AT A1 Y|

Options:

a) 2%

b) 3%

c) 5%

d) 9%

Correct Answer: 3%

Candidate Answer: 3%

Question 89. A discount series of 15%), 20% and 30% is equal to a single discount of:
15%, 20% 31 30% & scer Aofl, fha T sec & TART § ?

Options:

a) 50%

b) 47.6%

c) 52.8%

d) 52.4%

Correct Answer: 52.4%

Candidate Answer: 47.6%

Question 90. The following column represents the marks obtained by five students in three different subjects out of 50 marks in each subjects. Study the column
carefully and answer the question given below.

o=t o7 7 uier o @Ry et fafest fawal & & yeden & 50 & @ e 37k GRiiv 970 §| E68 (E3RW) 1 AU § 3eadel HY 3R A fow geet &1 3ear &

oere, e
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110 et o
o v
ik i il
1 DO i A s B s
IR, i e i
o, . i e
a0 e s cipit e
i, e s o
M ST roeen] [ e
20 ) e e e, M.
— e ——— hihiii it
iyt it
e -
70 e i
rsnies] hrh
rrioviioe e,
60 e
s
——
40 — —
20 m
Anjana  Mittal Charu  Manish Punit
AT - e = Leied
E Math O Physics B Chemistry
e Bl o e

Find the percentage of marks obtained by Manish.
HAIT GIRT JTod 371 &l FTArd e H



Options:

a) 33%4%

b) 50%

c) 66% %

d) 60%

Correct Answer: 66% %
Candidate Answer: 66% %

Question 91. A shopkeeper purchased 50 dozen cups for Rs.3000. Out of these, 60 cups were broken and could not be sold. At what rate per dozen should he sell the
remaining cups to make a profit of 20%?

Tk GITER o 50 &otel 9 Rs. 3000 H @S| 573 F 60 T g€ 1T 3N < 61 5T Tk | 20% ST ot & Fow 38 AWt 1 9fy oot forgy e o) S=retr anfgw?

Options:
a) Rs.60
b) Rs.75
c) Rs.80
d) Rs.90

Correct Answer: Rs.80
Candidate Answer: Rs.80

Question 92. A man driving at 2/3 of his original speed reaches his destination 30
minutes later than the usual time. Then the usual time is:

Teh STl =T Fel Tl T 2/3 TTel | okl UX 3Ye Iciey oo HHT THI Y JolA 3 30 ﬁa‘dﬁmﬁq—g’am%l A I JAT fohaeT 87
Options:

a) 45 minutes

45 fAete

b) 90 minutes

90 fA=Te

c) 60 minutes

60 A=Te

d) 120 minutes

120 fFae

Correct Answer: 60 minutes
60 fAee

Candidate Answer: 90 minutes
90 fAee

Question 93. Find the value of a and b if (x-1) and (x+1) are factors of

X +axd-3x%+2x+b

a 3R b & AT AT B AR (x-1) I (x+1) x* + ax® - 3x% + 2x + b F UGS B
Options:

a)2 -1

b)-2,1

c)-2,2

d)1,-1

Correct Answer: -2, 2

Candidate Answer: -2, 2

Question 94. The pie chart represent the distribution of cost of production of a firm in different purpose. Total cost of production of firm is Rs.720 lakh.
Teh el &Y ScUTeeT ofIFTeT T T fdeet FHel 3 TaeRoT U1 3  22fram 3147 ¥ | o Y el ScqTeat SRTel Rs.720 &G &

A = Cost of raw materials
FTd AT ST AT

B = Cost of packing materials
faT AT T APTT

C = Cost of labour

HH HT 6T

D = Maintenance cost
@@ FT AT



50"

Find the difference between Maintenance cost and raw materials.
TG AT d e AT T ART & oI 3a” AT HL

Options:

a) Rs.50 lakh
Rs.50 o@
b) Rs.60 lakh
Rs.60 o@

c) Rs.70 lakh
Rs.70 1@
d) Rs.45 lakh
Rs.45 @

Correct Answer: Rs.60 lakh
Rs.60 em@

Candidate Answer: Rs.60 lakh
Rs.60 @

Question 95. A man spends his two months' income in three months' time, if his monthly income is 6000, then his annual saving is:

T 3TTeaT, 39T & AT T 31T AT FEl & FAY H W AT § | Ife 3ThT AT 3T 6000 8 AY 3T a1fi¥es Sae fohcteir g1aly ?

Options:
a) 18000
b) 24000
c) 12000
d) 36000
Correct Answer: 24000

Candidate Answer: 24000

Question 96. Fill in the largest digit that will make 236953_876 divisible by 11?
I T 2T 37 A ST 236953_876 T 11 A 7o FAT &7

Options:

a)7

b) 8

c)9

d)3

Correct Answer: 9
Candidate Answer: 9

Question 97. Two trains each having a length of 160 meters moving in opposite direction crossed each other in 9 seconds. If one train crossed a 200-metre-long
platform in 27 seconds, then the ratio of their speeds is:

el feRm & 37l & YeRnfsar foerst & Teder &7 oS 160 3. §, T Th-g@Y 1 9 WS 7 IR F AT §1 IS U Te@meY, 200 e oo Tolethiet & 27 §hs H IR &Y

&, T 7T TS T 31Tl T g
Options:

a)3: 4

b)3:5

c)5:8

d)2:3

Correct Answer: 3: 5
Candidate Answer: 3: 5

Question 98. The pie chart represent the distribution of cost of production of a firm in different purpose. Total cost of production of firm is Rs.720 lakh.
T Gl &Y IcUTee AT b FafPeeT Hel 7 faeRor ur 3 # g@fiam aram ¥ o Y Fel Seulet ST Rs.720 o B

A = Cost of raw materials
FTd AT T AT
B = Cost of packing materials

feaT Tl A AT



C = Cost of labour
HH HT TETT

D = Maintenance cost
@G T AR

'3(’“

If cost of production is increased by 10%, then the new packing cost will be
3cqTe AT 10%9¢ ST W, 7% 3T ot fpd=y gefr?
Options:

a) Rs.200 lakh

Rs.200 @

b) Rs.220 lakh

Rs.220 @

c) Rs.180 lakh

Rs.180 &r@

d) Rs.150 lakh

Rs.150 &r@

Correct Answer: Rs.220 lakh
Rs.220 @

Candidate Answer: Rs.220 lakh
Rs.220 @

Question 99. The following column represents the marks obtained by five students in three different subjects out of 50 marks in each subjects. Study the column
carefully and answer the question given below.
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Which student got maximum marks in Physics?

Fa o F1 $ifadr &7 gaTftes 3ie Ho?

Options:
a) Anjana
3iSTT

b) Punit
gl

-]
c) Charu



SIEY

d) Manish

HoATy

Correct Answer: Charu
BIEY

Candidate Answer: Charu
BIEY

Question 100. The following column represents the marks obtained by five students in three different subjects out of 50 marks in each subjects. Study the column
carefully and answer the question given below.
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Which students got minimum marks in Math?

Tohel T 1 AMOTT & = g1 d 3ieh THel?

Options:
a) Anjana
37T

b) Punit
Seict

c) Charu
BIES

d) Manish
ATy

Correct Answer: Manish
AT

Candidate Answer: Manish
HoATY

Question 101. A customer saves Rs.320 at the rebate of 20% on market price of an article. If the cost price of the article for shopkeeper is Rs.1000, then the profit
percent of shopkeeper is:

Teh 3Tgeh, Teh a&] & SR Hed W 20% T F€ 8 9T Rs.320 1 T FT &1 I GohieTeR & foIT &g T oieTel #Fed *Rs.1000 8, oY GehleTaR o oisT &l Ficieie fehet=ir
g?

Options:

a) 30%

b) 28%

c) 20%



d) 25%
Correct Answer: 28%
Candidate Answer: 28%

Question 102. The average age of 7 members of a family is 40 years. In the family, there are three men, three women and one boy. If the average age of three men
is 48 years and average age of three women is 44 years, then the age of boy is:

T IRER & 7 Tt 1 3ad 317 40 a9 &1 yRar # T g, Nt AR 3R vk oz §1 AT e qeet A 3l 3mg 48 a¥ 3R e Afgensit # st amg 44
¥ A oIz Y 3y el &2
Options:

a) 6 years

6ay

b) 2 years

29§

c) 4 years

43y

d) 8 years

8ay

Correct Answer: 4 years

43y

Candidate Answer: 4 years

49y

Question 103. What percentage of the whole week does Ajay spend in office, if his office hours are 9 am to 5 pm from Monday to Friday?

I 3T & HRATERT T THY WHATR A YhaR 9 o1 Gag & 5 o191 AH e 8, Al ag R HCATg T vl TTAAT $1T 9= HrTerd F el el 82
Options:

a) 33.33%

b) 23.81%

c) 25.86%

d) 42.23%

Correct Answer: 23.81%

Candidate Answer: 23.81%

Question 104. In the following question, a part of the sentence is underlined. Below are given alternatives to the underlined part which may improve the sentence.
Choose the correct alternative. In case no improvement is required, choose "No Improvement" option.

Tarun agreed from me on that point.
Options:

a) to me on

b) with me in

c) with me on

d) No improvement

Correct Answer: with me on
Candidate Answer: to me on

Question 105. Four words are given, out of which only one word is correctly spelt. Find the correctly spelt word.
Options:

a) conscientious

b) conscientitious

€) consciencetous

d) concientitious

Correct Answer: conscientious
Candidate Answer: concientitious

Question 106. Four alternatives are given for the Idiom/Phrase underlined. Choose the alternative which best expresses the meaning of Idiom/Phrase.

The scandal was swept under the rug because of the important people involved in it.
Options:

a) blown out of proportion

b) heavily publicised

c) forgotten by the people easily

d) concealed from others

Correct Answer: concealed from others

Candidate Answer: blown out of proportion

Question 107. Four words are given, out of which only one word is correctly spelt. Find the correctly spelt word.
Options:

a) maintainance

b) maintenance



€) maintenaince

d) mentainance

Correct Answer: maintenance
Candidate Answer: maintainance

Question 108. In the following question, some parts of the sentences have errors and some are correct. Find out of which part of a sentence has an error and choose
corresponding to the appropriate option. If a sentence is free from error choose corresponding to 'No Error'.

Volkswagen literally translates to 'people's car,' but ironically most of its cars is out of reach of the common people.
Options:

a) translates to 'people’s car,’

b) most of its cars is

c) out of reach of

d) No Error

Correct Answer: most of its cars is
Candidate Answer: translates to 'people's car,'

Question 109. In the following question, a part of the sentence is underlined. Below are given alternatives to the underlined part which may improve the sentence.
Choose the correct alternative. In case no improvement is required, choose "No Improvement" option.

Raja not only passed and won a scholarship.
Options:

a) not passed but won

b) not only passed but also won

c) not only passed and also won

d) No improvement

Correct Answer: not only passed but also won
Candidate Answer: not only passed but also won

Question 110. Sentences given with blanks to be filled in with an appropriate word(s). Four alternatives are suggested. Choose the correct alternative out of the four.

The former prime minister was accused of he participated in certain anti-national activities.
Options:

a) sedition; and

b) libel; even though

c) treason; because

d) corruption; but

Correct Answer: treason; because

Candidate Answer: corruption; but

Question 111. Out of the four alternatives, choose the one which can be substituted for the given words/sentences.

Fear of heights

Options:

a) agoraphobia

b) aerophobia

c) antlophobia

d) acrophobia

Correct Answer: acrophobia
Candidate Answer: aerophobia

Question 112. Sentences given with blanks to be filled in with an appropriate word(s). Four alternatives are suggested. Choose the correct alternative out of the four.

He studied that were to his field of enquiry.
Options:

a) magazines; irrelevant

b) newspapers; lethal

c) blogs; extraneous

d) research papers; germane

Correct Answer: research papers; germane
Candidate Answer: newspapers; lethal

Question 113. In the following question, some parts of the sentences have errors and some are correct. Find out of which part of a sentence has an error and choose
corresponding to the appropriate option. If a sentence is free from error choose corresponding to 'No Error'.

The economic depression is looming large not only over the first-world countries but also over the third-world countries.
Options:

a) the economic depression is

b) looming large not only over

c) but also over the third-world countries

d) No Error



Correct Answer: No Error
Candidate Answer: the economic depression is

Question 114. In the following question, some parts of the sentences have errors and some are correct. Find out of which part of a sentence has an error and choose
corresponding to the appropriate option. If a sentence is free from error choose corresponding to 'No Error'.

By the time the corn was harvested, the grass seed covered the ground almost entirely.
Options:

a) by the time

b) the corn was harvested

c) the grass seed covered the ground

d) No Error

Correct Answer: the grass seed covered the ground

Candidate Answer: No Error

Question 115. In the following question, a part of the sentence is underlined. Below are given alternatives to the underlined part which may improve the sentence.
Choose the correct alternative. In case no improvement is required, choose "No Improvement" option.

I, who is your friend, will help you.
Options:

a) whom is your friend

b) who am your friend

c) whom your friend is

d) No improvement

Correct Answer: who am your friend

Candidate Answer: whom your friend is

Question 116. Out of the four alternatives, choose the one which can be substituted for the given words/sentences.

A person who treats foot related problems.
Options:

a) Dermatologist

b) Orthopedist

c) Chiropodist

d) Obstetrician

Correct Answer: Chiropodist

Candidate Answer: Orthopedist

Question 117. Four words are given, out of which only one word is correctly spelt. Find the correctly spelt word.
Options:

a) abscission

b) abcision

c) abscision

d) abcission

Correct Answer: abscission

Candidate Answer: abscission

Question 118. In the following question, a part of the sentence is underlined. Below are given alternatives to the underlined part which may improve the sentence.
Choose the correct alternative. In case no improvement is required, choose "No Improvement" option.

I lived here for the last two years.
Options:

a) have lived here since

b) lived here from

c) have lived here for

d) No improvement

Correct Answer: have lived here for

Candidate Answer: No improvement

Question 119. In the following question, a part of the sentence is underlined. Below are given alternatives to the underlined part which may improve the sentence.
Choose the correct alternative. In case no improvement is required, choose "No Improvement" option.

Birbal was the wisest of all other men.
Options:

a) more wiser of

b) wiser than

c) wiser to

d) No improvement

Correct Answer: wiser than

Candidate Answer: wiser to



Question 120. Four alternatives are given for the Idiom/Phrase underlined. Choose the alternative which best expresses the meaning of Idiom/Phrase.

The police went through the evidence with a fine-tooth comb.
Options:

a) carelessly

b) hastily

c) carefully

d) unnecessarily

Correct Answer: carefully

Candidate Answer: carefully

Question 121. Four alternatives are given for the Idiom/Phrase underlined. Choose the alternative which best expresses the meaning of Idiom/Phrase.

The company's vice president in charge of marketing was barking up the wrong tree when he made his sales pitch to the customer in Mumbai.
Options:

a) acting very wisely

b) misdirecting his efforts

c) doing as he was told by his superior

d) ruining a potential business deal

Correct Answer: misdirecting his efforts
Candidate Answer: misdirecting his efforts

Question 122. In the following question, some parts of the sentences have errors and some are correct. Find out of which part of a sentence has an error and choose
corresponding to the appropriate option. If a sentence is free from error choose corresponding to 'No Error'.

Me and my friend have started working on a summer project which was approved by our teacher.

Options:

a) me and my friend

b) have started working on a summer project
c) which was approved

d) No Error

Correct Answer: me and my friend
Candidate Answer: me and my friend

Question 123. Choose the word opposite in meaning to the given word.

Plummet

Options:

a) cut short

b) rise

c) fall

d) deny

Correct Answer: rise
Candidate Answer: cut short

Question 124. Four alternatives are given for the Idiom/Phrase underlined. Choose the alternative which best expresses the meaning of Idiom/Phrase.

The kid could no longer stave off his hunger.
Options:

a) fulfil

b) delay

c) quench

d) overcome

Correct Answer: delay
Candidate Answer: overcome

Question 125. Four words are given, out of which only one word is correctly spelt. Find the correctly spelt word.
Options:

a) oscillate

b) ocillate

c) osilate

d) oscilate

Correct Answer: oscillate
Candidate Answer: oscilate

Question 126. Sentences given with blanks to be filled in with an appropriate word(s). Four alternatives are suggested. Choose the correct alternative out of the four.

The committee's primary job was to act as between the management and the
Options:

a) a broker; administration

b) an intermediary; public sector



c) a mediator; union workers

d) a referee; private sector

Correct Answer: a mediator; union workers
Candidate Answer: a mediator; union workers

Question 127. Isovaleric acid is responsible for the odour:
Options:

a) vinegary

b) cabbage-y

c) cheesy

d) sweaty

Correct Answer: sweaty

Candidate Answer: sweaty

Question 128. One way to reduce the smell of our feet is to use:
Options:

a) vinegar

b) cheese

c) talcum powder

d) onion

Correct Answer: talcum powder

Candidate Answer: talcum powder

Question 129. In the following passage some of the words have been left out. Read the passage carefully and choose the correct answer to each question out of the
four alternatives and fill in the blanks.

Options:

a) (I) extinct

b) (I) flourishing

c) (I) dangerous

d) (I) threatened

Correct Answer: (I) extinct
Candidate Answer: (I) threatened

Question 130. In the following passage some of the words have been left out. Read the passage carefully and choose the correct answer to each question out of the
four alternatives and fill in the blanks.

Options:

a) (II) demise

b) (II) decline

c) (III) decay

d) (IV) degeneration

Correct Answer: (II) decline
Candidate Answer: (II) decline



